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^uq¿ ,l=Kq 40& 

m<uqjk m%Yakh i|yd fhdað; W;a;r(   
 
1.1 (3) 

         4 + 4𝑥 = 𝑥 + 16 

               3𝑥  = 12                               

                     X = 4 

 ^,l=Kq 03& 
1.2 (3) 

fmd<sh   = 𝑋𝑟𝑛  x= 20 000, n = 3,    r = 0.08     

 

 𝑆 = 250,000 × 0.18𝑋3 
  

            S   = 135,000 

 

fmd<sh    = re 135,000 

           ^,l=Kq 03& 
1.3 

(4)  

 

     S = X(1 + r/N)n×N                         S= 228,112, n = 3,    r = 0.12,    N= 4 

                    228112 = x(1 + 0.12/4)3×4                       

                                  

          𝑿 =
228112

(1+0.12/4)12 

                                           
                                         X =   228,112 
                                                   (1.03)12 

 
                                        X = 160,000.00 
 

^,l=Kq 03& 
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1.4 (1) 

^,l=Kq 03& 
1.5  (2) 

L1 = 29.5, ∆1= 15 − 11 = 4   C = 10 

                                ∆2= 15 − 6 = 9 

𝑴𝒐 = 𝑳𝒊 + [
∆𝟏

∆𝟏 + ∆𝟐
] × 𝑪 

𝑀𝑜 = 29.5 + [
4

4 + 9
] × 10 

 

                            𝑴𝒐 = 𝟑𝟐. 𝟓𝟖 
^,l=Kq 03& 

1.6 (2) 

𝑟 =
n ∑ xy −   ∑ x . ∑ y

√(n ∑ x2 −   (∑ x)2 ) (n ∑ y2 −   (∑ y)2 )

 

𝑟 =
5 X 527 –  61 X 37

√(5 ×  869 − 612 ) (5 ×  321 – 372 )

 

𝑟 =
378

√147264
 

 

                                       r = 0.985                               

^,l=Kq 03& 
1.7       (4) 

  

𝑃 =
𝑃1

𝑃0
× 100 

 

  𝑃 =
28

24
× 100 = 117% 

   
^,l=Kq 03& 

1.8       (3) 
 
iajdñmqreIhd iy Nd¾hdj hk fofokdu fuu f,d;/hsh Èkd .ekSfï iïNdú;dj  

                           = 
3

8
×

2

5
= 

3

20
                                                

^,l=Kq 03& 
1.9      (1) 

 ŷ = Ŷ × S ̂ 
wf.daia;= udih i|yd mqfrdal:kh l< úl=Kqï m%udKh 2023= 10,265 × 1.06 = 10,881 

                                                                                         = 10,881 
 
^,l=Kq 03& 
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1.10     (1) 
 S = X(1 + r)n   X=500,000 , r = 0.18,   n=3 

 S = 500,000 × 1.183 

             S = 821,516  

^,l=Kq 03& 
1.11 
 A    (3) 

 B    (4) 

 C    (2) 

 D    (1) 
^,l=Kq 01 ne.ska ,l=Kq 04& 

1.12      
              100 - 30 = 70 

mß.Kl wOHhkh fkdlrk isiqka ixLHdj = 240 ×
70

100
 

                                                                                                         =168                               

           ^,l=Kq 02&                                                                                                                          

1.13  

       𝐒𝐧 =
𝐧

𝟐
{𝟐𝒂 + (𝒏 − 𝟏)𝒅}        

  𝐒𝐧 =
𝟏𝟐

𝟐
{𝟐 × −𝟕 + (𝟏𝟐 − 𝟏) × 𝟔}            

 
          =  312 
            ^,l=Kq 02& 

1.14 wi;Hhs 
 ^,l=Kq 01& 

1.15 i;Hhs                                                                              

  ^,l=Kq 01&   

^uq¿ ,l=Kq 40& 

 

 

 

 

 

 

 

 

 A fldgfiys wjidkh 
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^uq¿ ,l=Kq 40& 

 

fojk m%Yakh i|yd fhdað; W;a;r( 

mßÉfþoh 01 - .‚;fha uQ,sl ixl,am 

(a) 
kjlhska ixLHdj  } x 

m<mqreÿ ld¾h uKav,fha ixLHdj } y 

    
             50,000x + 125,000y  =   3,875,000                      1 

  x + y =   40                       2 

             2         50,000 (40-y) + 125,000 y       = 3,875 000                        3 

                         2,000,000 – 50,000y + 125,000 

25 

             1     x + y =  40 

                x + 25   =  40 

                            x    = 15  

 
     kjlhska ixLHdj  } 15 

     m<mqreÿ ld¾h uKav,fha ixLHdj } 25       
            ^,l=Kq 04&                                                                                                                
(b)        

fmdÿ m%jdyk fiajh Ndú;d lrk fiajlhska .Kk =350 ×
7

25
 

                                          = 98 

 
fiajlhska 50 fofkl=g tla nia r:hl .uka.; yelsh' 

 
        m%jdyk moaO;shg nia r: 02 la i|yd fjkalr we;'  

^,l=Kq 03& 
(c)  

 2023 j¾Ih i|yd wfmalaIs; ,dNh = 20,000,000×
96

100
  

 
                   = re. 19,200,000    

 ^,l=Kq 03& 
^uq¿ ,l=Kq 10&  

 
 
 
 
 

fldgi - B 
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;=kajk m%Yakh i|yd fhdað; W;a;r( 

mßÉfþoh 03 - jHdmdr i|yd uq,H fufyhqï mshjr 

 
(a) 
uq¿ wdodhu iólrKh (TR)    = b,a,qu  × m%udKh   

                         uq¿ wdodhu       = (30 + 2q) × q 

                                       =   𝟑𝟎𝐪+ 𝟐𝐪𝟐 
^,l=Kq 03& 

(b)        
iuÉfþok ,laIHh   

                TR = TC 

  30q+ 2q2 = 2q2 + 2q + 5,600 

                           30q - 2q = 5,600 

               28q = 5,600 

                                          q  =  tall 200 

 iuÉfþok tall m%udKh = tall 200 

  ^,l=Kq 04& 

(c)   wdka;sl msßjeh (MC)iólrKh = 
𝐝 (𝐓𝐂)  

𝒅𝒒
 

 

                                       
d (TC)  

𝑑𝑞
   =   

d (2q2 + 2q + 5,600)  

𝑑𝑞
    

                                      MC    = 4q + 2 

   m%udKh }250 úg 
   MC    = 4x250 + 2 

             = 1,002 

 wdka;sl msßjeh (MC)  = re.1,002 

^,l=Kq 03& 
 ^uq¿ ,l=Kq 10& 

y;rjk m%Yakh i|yd fhdað; W;a;r(   

mßÉfþoh 05 - m%udKd;aul úp,H folla ixikaokh lsÍu 
 
(a)  

x y xy x2 

18 85 1,530 324 

25 90 2,250 625 

30 96 2,880 900 

36 100 3,600 1,296 

40 110 4,400 1,600 
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50 115 5,750 2,500 

60 125 7,500 3,600 

65 140 9,100 4,225 

324 861 37,010 15,070 

 
 

       ∑ X =324 ,   ∑ Y=861 ,   ∑ XY =37,010 ,   ∑ X2 =15,070,   n = 8                                              
 

    b    =  
𝐧 ∑ 𝐗𝐘 −  ∑ 𝐗 ∑ 𝐘

𝐧 ∑ 𝐗𝟐 −  (∑ 𝐗)𝟐  

   b    =   8 X 37,010– 324 X 861 

            (8 X 15,070 - 3242 ) 

  b     = 
296,080−278,964  

120,560−104,976
 

 
 b    =  1.0983 

 

      a   = 𝒀̅ − 𝒃𝑿̅ 

      a   =  
𝟖𝟔𝟏

𝟖
− 𝟏. 𝟎𝟗𝟖𝟑 ×

𝟑𝟐𝟒

𝟖
 

       a  =  63.143 

 
wvq;u j¾. m%;smdhk f¾Ldj,  Y = a+bx 

      Y = 63.143 + 1.098x // 

   Or 

      Y = 63.14 + 1.098x // 
            ^,l=Kq 07& 
(b) jhi wjqreÿ 72 jkúg" 

Then  x = 72 

 
                                            𝒀 = 𝟔𝟑. 𝟏𝟒𝟑 + 𝟏. 𝟎𝟗𝟖 × 𝟕𝟐 

        Y = 142.2 

 

reêrfha wfmalaIs; iSks uÜgu 142'2 fõ 

^,l=Kq 03& 
^uq¿ ,l=Kq 10& 
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miajk m%Yakh i|yd fhdað; W;a;r(   

mßÉfþoh 04 - o;a; bÈßm;a lsÍu iy úia;rd;aul mshjr 

mr;rh 
 

uOH w.h 

(𝒙) 

ixLHd;h 

(𝒇) 

iuqÉÑ; 

ixLHd;h (C𝒇) 

𝒇𝒙 

20 - 29 24.5 10 10 245 

30 - 39 34.5 18 28 621 

40 - 49 44.5 30 58 1,335 

50 – 59 (uOHia:h 

wvx.q mka;sh) 
54.5 45 

103 2,452.50 

60 - 69 
64.5 17 

120 1,096.50 

  120  5750 

                                    

(a)  

(i) uOHia:h  (Md)                                          

     𝑛

2
= 60 ,  uOHia: mka;sh 49.5 – 59.5(50 – 59) 

  L1 = 49.5   n = 120              Fc = 58           Fm  = 45         C = 59.5 – 49.5 = 10 

Md = L +
( 

𝑛

2
− 𝐹𝑐 )

𝑓𝑚
 × 𝑐 

 

Md = 49.5 +
(60 − 58 )

45
 × 10 

                             

Md = 49.5 +
2

45
 × 10 

                                       𝐌𝐝 = 𝟒𝟗. 𝟗𝟒 
     ^,l=Kq 04& 

 (ii) 

              ∑ 𝒇𝒙 = 𝟓𝟕𝟓𝟎      ∑ 𝒇 = 𝟏𝟐𝟎 

            uOHkh     = 
∑ 𝒇𝒙

∑ 𝒇
 

      

                     = 
5750

120
 

             
                                    =  47.92 

      ^,l=Kq 03& 
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(b) 

l=ál;d ix.=Klh             =  
𝟑 ( 𝒙−𝑴𝒅 )

𝑺
 

 

=
3 (47.92 − 49.94 )

77.42
 

    

    =  - 0.53  
     ^,l=Kq 03& 

^uq¿ ,l=Kq 10& 

 
 
 
 
 
 
 
 
 
 
 
  

B fldgfiys wjidkh 
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^uq¿ ,l=Kq  20& 

yhjk m%Yakh ioyd fhdað; W;a;r(  

mßÉfþoh 02 - jHdmdr i|yd uQ,H .‚;h 
 
(A) (a) 
      P = 800,000 , n = 5 , r = 0.09 
 

jd¾Isl jdßlh       = 𝑷 =
r (1+r)𝑛 

 (1+r)𝑛−1
 

   𝑷 =
800,000 x  0.09 (1+0.9)5 

 (1+0.9)5−1
 

  

                 X   =   205,674  

 jd¾Isl jdßlh re.205,674 
^,l=Kq 03& 

 

 (B) 
mßÉfþoh 02 - jHdmdr i|yd uQ,H .‚;h 

 (a)  
 

jir  
 

uqo,a m%jdyh 
D.F. (10%) 

j¾;udk w.h  
(P) 

j¾;udk w.h  
(Q) P Q 

0 (450,000) (400,000) 1.000 (450,000) (400,000) 

1 250,000 250,000 0.909 227,250 227,250 

2 200,000 200,000 0.826 165,200 165,200 

3 125,000 75,000 0.751 93,875 56,325 

NPV    36,325 48,775 

 
 
P jHdmD;sfha Y=oaO j¾;udk w.h = 36,325 

Q jHdmD;sfha Y=oaO j¾;udk w.h =  48,775 

           ^,l=Kq 06& 

 
 
 
 
 
 
 
 

fldgi - C 
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(b)  

                                               P jHdmD;sh         Q jHdmD;sh  

wdfhdackh              450,000  400,000 
Y=oaO j¾;udk w.h  36,325                          48,775 

 

A jHdmD;s foflysu Y=oaO j¾;udk w.h Okd;aul fõ' kuq;a Q jHdmD;sfha  Y=oaO j¾;udk 
w.h jeäh' ta ksid Q jHdmD;sh fyd|u wdfhdackhhs'           
             ^,l=Kq 02& 
 
(C) 
mßÉfþoh 06 - iïNdú;dj iy tys fhÿï 

 
 

/lshd iajNdjh újdyl wújdyl uq¿ tl;=j 

l<ukdlrK 6 14 20 

ld¾hd, 25 10 35 

fufyhqï 45 30 75 

uq¿ tl;=j 76 54 130 

 
 

 (a)  
45

75
=

3

5
= 0.6 

 

 (b) 
20

130
=

2

13
= 0.1538  

^,l=Kq 03& 
 
(D) 
mßÉfþoh 06 - iïNdú;dj iy tys fhÿï 
    

X : fldams noqfka Odrs;dj (ml) 
 

 µ= 232  σ = 5ml 

 

        𝑍 =
X  − 232

5
     

     X = 225 

                𝑍 =
225  − 232

5
     

                   𝑍 = −𝟏. 𝟒 
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  0.4192   0.4772   

 

 

0.5-0.4192                 

 

                                                                                            x     

                                     225    232       

  z 

   -1.4 0          

 

 Pr(x < 225 ) = P (z< -1.4) 

                                   = 0.5 - 0.4192 

                                   = 0.0808 or 8% 

 

  ^,l=Kq 04& 

^uq¿ ,l=Kq 20& 

 
 
 
 
 
 
 
 
  

C fldgfiys wjidkh 
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Notice:  
 
 
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designs 

especially for the benefit of those students who are engaged in self-studies. These are intended to 

assist them with the exploration of the relevant subject matter and further enhance their understanding 

as well as stay relevant in the art of answering questions at examination level. 
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